Intercaler un décimal

Compléete avec un décimal qui convient :

-78

-9,2

- 6,8

-5,6

-8,3

- 43

<

<

-77

-9.1

-6,7

-55

-8,2

42



Intercaler un décimal

Compléete avec un décimal qui convient :

-14  ( < -13
-68 <« < -67
-44 ( < -4.3
-72 <« < -71
-85 « < -84
-36 <« < -35




Intercaler un décimal

Compléete avec un décimal qui convient :

-89

-5,3

-9,2

-1,7

-2,3

-45

<

<

-8,8
-5, 2
-9.1
-1,6
-2,2

/

- 4.4



Intercaler un décimal

Compléete avec un décimal qui convient :

-2,8

-5,3

-6,9

-7,6

-3,2

-9,7

<

<

2,7

-5,2

- 6,8

-75

- 3.1

-9,6



Intercaler un décimal

Compléete avec un décimal qui convient :

-5,8
95
- 46
- 7.4
Y.

/

-2,3

<

<

.57
-94
- 45
7.3
-1,1

/

-2,2

!



Intercaler un décimal

Compléete avec un décimal qui convient :

- 8,6
-34
- 6,9
47
12

/

-2,3

<

<

-85
- 33
- 6,8
- 46
- 1,1

/

-2,2

!



Intercaler un décimal

Compléete avec un décimal qui convient :

-6,9

-9,5

- 5,6

-1,3

-39

-7,7

<

<

-6,8

- 94

-5,5

-1,2

-34

-7,6



Intercaler un décimal

Compléete avec un décimal qui convient :

-24 < -2,3
-48 ( < -4,7
-3.7 <  -36
-12 < -11
-86 <« < -85
-68 <« < -67




Intercaler un décimal

Compléete avec un décimal qui convient :

-78 K« K< -7,7
-5,3 ( £ -5,2
-24 K« < -2,3
-36 <« < -35
-49 «( < -48
-12 <« < -11




Intercaler un décimal

Compléete avec un décimal qui convient :

-94

- 47

- 1,3

-25

-89

-6,2

<

<

9,3
- 4.6
Y.
- 2,4

-8,8

-6,1



Intercaler un décimal

Compléete avec un décimal qui convient :

5,7 £ -5,7
-74 < < -7.3
-6,2 < < -61
5,2 «( < -b5H1
-15 < -14
-36 K« < -35




Intercaler un décimal

Compléete avec un décimal qui convient :

-6,5

- 4.4

- 9,3

- 3,6

-8,3

-2,8

<

<

- 6.4

- 43

-9,2

-3.5

-8,2

-2,7



